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RAVPR(ER) [RAPR R | NAUER(ET [ RAUPK (KR
X % ¥ |w=15cm W=15cm 5)W=45¢cm ET) W=15¢cm ] %
(Bifiz:m) (Bifii:m) (Bifst:m) (BEfi:m)
RHRBRE(RESIVTHAIED)
AR (R 1,112.0
HMEER (ER 1,238.0 984.0+254.0=1,238.0m
bR 555.0
#E AR HE
HMELER 363.0 151+153+56=360.0
R 20.0
bR 39.0 15.0
8BRS 2413
£I3 99.6 w=45¢cm
KN 10.0 {[w=15cm
EE5V7
SRR 886.0
€IV —v w=45¢cm
BEBSUT 125.8
xE857 182.0
= B 3879.3 590.0 4074 10.0
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BEESVT(A~E) AXEBEBIVT(F
m R 4R No m
+IS5 A 1 0.7 +IS5F 1 2.3
2 1.3 2
3 2.1 3
4 3.0 4
5 3.8 5
6 4.8 6 22.0
B 15.7 7
+J5B 1 1.2 8
2 15 9
3 2.1 10 3.2
4 2.8 11
5 3.6 12
6 4.6 13
7 5.9 14
E 21.7 15 32.9
+J5C 1 0.5 16
2 0.9 17
3 1.3 18
4 1.7 19
5 2.2 20 4.1
6 2.8 21
7 3.6 22
8 4.3 23
9 5.0 24 36.1
10 6.0 25
E 28.3 26
+J5D 1 2.7 27
2 2.3 28 6.2
3 1.7 29 1.1
4 1.1 \ 30 1.0
5 2.7 31 0.3
6 IRRN \ =F 106.9
7 45| TISF f2mfl  21.0]| 3. Om*7{H
8 4.6 \ 520 | EiEHRESE
9 4.7 21| €JSEEER
10 5.3 &t 75.1
B 33.5 W=0.45m
+JSE 1 0.4
2 0.8
3 1.0
4 15
5 1.8
6 2.3
7 2.7
8 3.2
9 3.7
10 4.2
11 5.0
26.6
BEESVT(A~E) KEESVT(F)
5 1258 m it 1820 m
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10m
3 SR 1,112 m
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(8%3)+(5%7)= 59
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BEESVT ‘ ‘ ‘ ‘ ‘ } [ | | REHAIEL
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1 30 5%3= 15 9.1 85 —
85 X S— el Z= AR
—_— =Py =
/48.(/) T I 20.0 39.0
[/ = 2 / [ ] < |)%-3,
EI7 T [ -
] 10.0 9.6
= tM 0.0 =355 g g
7.0 5%4= 20 153.0
/ >

SMAIER (RHR) 363.0 m 151+153+59= = e
RIS RR) 200 m %}Jj.m V4
FIlMR (E4R) 390 m
bR (BRER) 150 m
BRE 2413 m 8.0+8.5+7.0+6.8+48.0+48.5+9.1+8.8+10.0+9.0+8.5+9.3+20.0+21.3+9.6+8.9=
+J5 99.6 m 1.244.0+7.1+7.7+7.4+7.0+6.2+6.0+5.5+5.1+4.7+4.3+3.9+3.4+3.0+(2.7%8)+1 5=
% 100 m (1.5+1.5+2)%2=
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